;> restart
> y[1]=exp(2x);y[2] :=exp(-3x)

_ 2x
y =€
. —3x
V=€
;> with(linalg) :
> det(wronskian([y[1],y[2]1],x)) #0
i -5 e 0
> y[3]:=5exp(2x)
2x
y3:=5e¢
B det(wronskian([y[1],y[3]1],x)) =0
0=0

> y[4] :=exp(5x)cos(2x)
_ 5x
Yy =€ " cos(2x)

> y[5] = exp(5x)sin(2 x)

Vs = e sin(2 x)

> simplify(det(wronskian([y[4], y[5]],x))) # 0
2% 0

> restart
> SolGral = y(x) =C[1]-exp(5x)cos(2x) + C[2]-exp(5 x)sin(2 x)
SolGral := y(x) =C, e cos(2x) + C, e " sin(2 x)

> Ecua = diff (y(x),x$2) — 10 diff (y(x),x) +29 y(x) =0
2
Ecua .= % y(x) —10 (%y(x)) +29y(x) =0

> SolGralDos = dsolve(Ecua)
SolGralDos :=y(x) = _CI ¢ sin(2x) + C2 € cos(2 x)
>m[l]=54+2Lm[2]=5-21
m;:=5+21

m2:=5—21

> EcuaCarac = expand((m —m[1])-(m —m[2])) =0
EcuaCarac = m—10 m +29=0

> restart

> Ecua = diff (y(x), x$2) — 6 diff (v(x),x) +9y(x) =0
2
Ecua:=%y(x) —6 (— (x)) +9y(x)=0

> 1] = exp(3x); (2] = x-exp(3 x)
yyl =¢C

Y, i=xe

:> with(linalg) :

0y

(€))

(€))

(C))

(6))

()

@)

®

®

(10)

an

(12)

13)

(14)



det(wronskian ([yy[1], yv[2]],x)) # 0

3x) 2

(e ) *0
comprobacion = simplify(eval(subs(y(x) =yy[2], Ecua)) )
comprobacion :=0=0
SolGral == y(x) =C[1]-yy[1]+ C[2]-yy[2]
SolGral .= y(x) =C, S+ Cyx e
SolGralDos = dsolve(Ecua)
SolGralDos =y(x) = CI e+ 2 e x

restart

Ecua = diff (y(t), 182) +diff (y(2),t) +y(t) =0
2

d
Ecua:=—= y(t) + — y(t) +y(t) =0
cua dtz s y y

SolGral = dsolve(Ecua)
1 1

-= -=t
SolGral :=y(t) = Cle 2 sm( \/_t) + C2e 2 cos(% 3 t)

EcuaCarac := expand( (m— (—? + ﬁrtz(—)[))(m— (—%—ﬂrtz(il))) =0

EcuaCarac = m2 +m+1=0

restart
Ecua = diff (y(t),1$2) —5- dﬂ t) —36y(t) =0
d d
Ecua = dtz y(t) —5 (Ey(t)) —36y(t) =0

Solgral := dsolve(Ecua)
Solgral =y (t) = CI e+ 2 et
EcuaCarac := expand((m —9)-(m+4)) =0

2

FEcuaCarac:=m" —5m—36=0

restart

Ecua = diff (y(x), x8$3) =

SolGral = dsolve(Ecua)
SolGral =y(x)=— CIx¥+ C2x+ C3

restart
Ecua = diff (y(x), x$3) + diff (y(x) x$2 ) +diff (v x) +y(x)=0
_ & d’ 1 _
Ecua = 3 y(x) +— o2 y(x) + & y(x) +y(x)=0
SolGral := dsolve(Ecua)
SolGral :==y(x) = Cle" 4+ C2sin(x) + C3cos(x)

EcuaCarac == expand((m+1)-(m+1)-(m—1)) =0

15)
(16)

a7

(18)

19)

(20)

@1

(22)

(23)

(24)

(25)

(26)

@7

(28)

[pd\)



EcuaCarac:=m> +m> +m+1=0 29)

:> restart
> Ecua = diff (y(x), x$3) + 2 diff (v(x), x$2) + 22 diff (y(x),x) — 74 y(x) =0
3 2

Ecua = d—3 y(x) +2 d—2 y(ix) | +22 (i y(x)) —T74y(x)=0 30)
] dx dx dx
> SolGral = dsolve(Ecua) : evalf (%, 3)
yx)= Cle™ ™" —1. C2e % sin(5.23x) + C3e " cos(5.23 x) 31)

>




